BEAD GEXEF - BTTH5)

Sf6&EI12A 18
;1) X % # F K A ! % %

B 7 & o X 6,972 13,325 6,972 6,353

X B # K 1,205 2,802 1,387 1,415

£ P # K 548 1,367 69 | 676

N RO K 1,012 2,573 1,293 1,280

Bl £ # K 7,196 14,815 7,230 7,585

N | R # K 1,316 3,065 1,496 1,569

it XX M # K 1,039 2,398 1,195 1,203

it &8 & b K 7,970 18,262 8,700 9,562

B » B # X 6,588 16,155 8,062 8,093

& 5 33,846 74,762 37,026 37,736
Sf6FEI12A 18

w K A& BT T % # #H A ! 5 54

B 7 i X BE 7 1B T A 4,644 9,197 4,61 | 4,586
¥ FB H 201 356 200 156

® B E 434 828 4217 401

£ L L H 787 1,361 858 503

g R H 315 525 285 240

53 ip) 59 | 1,058 59 | 467

#H K3 6,972 13,325 6,972 6,353

A E 1 K £ B H 88 201 101 100
K & H 826 1,939 949 990

= K |46 329 167 162

+ K 1% #7 6T 145 333 170 163

#H K3 1,205 2,802 1,387 1,415

k P # K ® B H 138 339 178 161
= (| 16 37 15 22

£ @\ H 126 395 189 206

& & H a6 209 98 1]

R H 108 239 135 |04

K F  H 64 148 76 72

#H K3 548 1,367 69 | 676

N RO X N KR H 176 394 199 195
nOR 150 391 193 198

7 PR HT 32 78 34 44

B R ¥ g 484 1,303 668 635

& A& 64 166 77 89

Z ij) 106 24| 122 119

#H K3 1,012 2,573 1,293 1,280
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BEAD GEXEF - BTTH5)

42f6FE 2R | B
X £ B T 4 it FEH A = L 8
Bl % 2 X Bl K H 638 1,476 717 759
P9 & %7 @ BT | 2 2 0
A 1 HT 169 41 | 199 212
B R B 744 1,629 790 839
& & 1,003 2,167 1,018 |, 149
Bl &£ 101 396 155 241
= & 1,967 3,912 1,935 1,977
B | TH 236 416 211 205
8 2 TEH 452 871 436 435
8 3 TH 509 813 41 | 402
8 4 TBH 765 1,389 703 686
Mt W 25 | 4 I
NGB OFE A HT 436 ql4 454 460
JE 5% 4 %7 |8 BT 15 35 15 20
LT 1 | 49 359 170 | 89
#H X 7,196 14,815 7,230 7,585
N R Kt R R AR E 1,316 3,065 1,496 1,569
# X3 1,316 3,065 1,496 1,569
b X R X & ¢ H 72 222 17 105
& 5% %7 @B 6T 66 | 54 76 78
‘A BE YR E] 106 244 118 126
g @\ 6| 141 74 67
it /H  H 74 | 89 92 q7
N OB 31 82 43 39
= ‘A 68 | 74 87 87
X B 6 16 7 q
BAaa | TH 92 192 104 88
BAaE2TH ql 196 a3 103
B E3TH 100 199 qq 100
mHoE4TH 136 303 |44 159
B2 E5TH 54 117 56 61
B E 6 T8 82 |1 69 85 84
#H X 1,039 2,398 1,195 1,203
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BEAD GEXEF - BTTH5)

42f6FE 2R | B
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 182 392 1q | 201
EWL2TEH 198 449 214 235
EWw 3 TEH 175 396 209 187
Bl 4 TEH 330 821 356 465
EWL5TEH 274 597 276 321
EWL 6 TEH 286 672 335 337
EWL7TEH 238 574 28| 293
EWL 8 TEH 276 604 298 306
WwWE I TEH 443 q17 422 495
WwWE2TEH 130 323 158 165
¥ 3ITBAE 231 512 265 247
WwWE4TEH |59 358 165 193
WwES5TH 245 55 | 264 287
WwW¥E 6 TBH 273 610 282 328
NI T B 28 6l 29 32
N2 T H 357 902 447 455
N3 TEH | 84 405 212 193
NS 4 T B 585 1,175 517 658
T& 1 TH 200 465 220 245
& 2T7TEH 235 568 268 300
& 3TEH 1 40 318 166 152
T & 4T7TEH 270 666 321 345
T &5TEH 192 437 188 249
BRE I TH 190 48| 235 246
BHRE2TH 212 566 272 294
BHRE3TE 70 1 87 89 a8
wHRE4TH 213 457 212 245
BHRES5TE 29| 749 351 398
Afx& | TH 162 413 202 211
A& 2TH 170 397 197 200
A& 3TH 358 797 387 410
Afr& 4 TH 673 |,442 67| 77|
o X E 7,970 18,262 8,700 9,562
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BEAD GBXF - BTT )

42f6FE 2R | B
H K % B T 4 it FEH A = L 8
Ry MK | gEyrl TH 173 797 544 253
Bk BE2TH 172 426 217 209
By A3 TH 205 460 235 225
Bk B4 TH 286 746 352 394
o ES5TH 348 815 379 436
By 6TH 336 946 472 474
Bk BT TEH 432 114 573 54|
W/ AW TH 289 707 325 382
W/ W2TH 243 583 287 296
W/ N3TEHE 387 994 477 517
W/ W4TH 307 786 376 410
W/ W5TH 283 737 363 374
wr e TH 546 1,131 550 581
WworBE2TH 465 989 476 513
WwWor B3 T8 362 1,012 503 509
Wwor B 4TE 351 598 299 299
BRI TEH 280 722 366 356
B¥27TEH 450 1,028 524 504
B3R 3TA8 311 752 383 369
B¥ 4 TEH 344 636 305 331
B | TH | 135 37 98
v B 3 T8 |7 41 19 22
# K F 6,588 16,155 8,062 8,093
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